Perís Sol	cope JICC		Welcon	ne pcruz@ppines.com <u>Logout</u> Need assistance? Contact us or call 800-990-9339
	Home Search Source	e Contracts	Tools	
<u>View by Line Ite</u>	<u>m</u> View by Supplier		Email Tabulation	<u>Generate PDF</u> <u>View Printabl</u>
Bid #TS-21	-10 - Sophos Antivirus Renewal			
Creation Date Start Date		d Date Nov 2, 2021 2:00: arded Date Not Yet Awarded		
Pc Network S	olutions			\$72,753.00 (4/4 items)
Bid Contact	Guillermo Panaggio <u>bill@pcnetworked.com</u> Ph 561-262-0532	Address 10625 Norti Palm Beach	n Military trail Sui I Gardens, FL 3341	te 104
Qualifications	FED-LOBBY&DEBAR FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PI	P-LOCAL PP-SCRUTINIZED P	P-SWORN PP-VE	NDORINFO PP-VOSB PP-W9
Agency Notes:		Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
TS-21-1001-01	Intercept-X Advanced with XDR & MTR Standard - 1 YR - First Offe	r \$43.11	850 / each	\$36,643.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-21-1001-02	Intercept-X Advanced with XDR for Server & MTR Standard- 1 YR - First Offe	r \$69.27	50 / each	\$3,463.50
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		+05.005.00
TS-21-1001-03 Product Code:	Central Email Advanced - 1 YR - First Offe	· · · · · · · · · · · · · · · · · · ·	1400 / each	\$26,096.00
Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-21-1001-04	Phish Threat - 1 YR - First Offe	r \$6.55	1000 / each	\$6,550.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	· · · ·	
Firestorm Cyl Bid Contact Qualifications	ber Kimberly Maddox <u>kmaddox@firestormcyber.com</u> Ph 404-626-3130 FED-LOBBY&DEBAR FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-HUBZON VENDORINFO PP-VOSB PP-W9 PP-WBE	Address 1020 Garlar Bogart, GA IE PP-LBTR PP-LOCAL PP-N	30622	\$73,273.50 (4/4 items) ZED PP-SWORN PP-
Agency Notes:		Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
TS-21-1001-01	Intercept-X Advanced with XDR & MTR Standard - 1 YR - First Offe		850 / each	\$36,091.00
Product Code: Agency Notes:		Supplier Product Code: MUSJ10 Supplier Notes:	5TAA	
TS-21-1001-02	Intercept-X Advanced with XDR for Server & MTR Standard- 1 YR - First Offe		50 / each	\$3,380.50
Product Code: Agency Notes:		Supplier Product Code: MVSG1 Supplier Notes:	GTAA	
TS-21-1001-03	Central Email Advanced - 1 YR - First Offe	· · ·	1400 / each	\$26,502.00
Product Code: Agency Notes:		Supplier Product Code: CAMK1 Supplier Notes:	I	420,502.00
TS-21-1001-04	Phish Threat - 1 YR - First Offe		1000 / each	\$7,300.00
Product Code:	This hireat TK-histore	Supplier Product Code: CPTK10	I	÷7,500.00
Agency Notes:		Supplier Notes:		
-	ting Concepts, LLC. Janet Leigh	Address 110 E Atlan t	tic Ave Suite 120	\$73,648.00 (4/4 items)
	j <u>leigh@c3-complete.com</u> Ph 561-939-4020 FED-LOBBY&DEBAR FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-HUBZON	Delray Bead	:h, FL 33444	ZED PP-SWORN PP-
	VENDORINFO PP-VOSB PP-W9 PP-WBE			
Agency Notes:	Ling Itom	Supplier Notes:	Oty/Unit	Takal Pol
Item #	Line Item Intercept-X Advanced with XDR & MTR Standard - 1 YR - First Offe	Unit Price	Qty/Unit 850 / each	Total Price \$37,094.00
TS-21-1001-01			1 8507 earn -	

Supplier Product Code: musj1gtaa

Supplier Notes:

Product Code:

Agency Notes:

3/21, 3:47 PN	A Periscope S	· ·	1	1
TS-21-1001-02	Intercept-X Advanced with XDR for Server & MTR Standard- 1 YR - First Offer	\$70.12	50 / each	\$3,506.00
Product Code: Agency Notes:		Supplier Product Code: mvsg1g Supplier Notes:	gtaa	
TS-21-1001-03	Central Email Advanced - 1 YR - First Offer	\$18.87	1400 / each	\$26,418.00
Product Code: Agency Notes:		Supplier Product Code: camk1c Supplier Notes:	taa	
TS-21-1001-04	Phish Threat - 1 YR - First Offer	\$6.63	1000 / each	\$6,630.00
Product Code: Agency Notes:		Supplier Product Code: cptk1gt Supplier Notes:	aa	
TEC-LINK				\$74,063.50 (4/4 items
	Derek Holmes Sr <u>derek@tec-link.com</u> Ph 813-929-3222	Address P.O. Box 489 TAMPA, FL 3		
	FED-LOBBY&DEBAR FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-HUBZON VENDORINFO PP-VOSB PP-W9 PP-WBE	E PP-LBTR PP-LOCAL PP-N	IBE PP-SCRUTI	NIZED PP-SWORN PP-
Bid Notes Agency Notes:	Tec-Link is a certified MBE and authorized Sophos reseller.	Supplier Notes: Tec-Link is a cer	tified MBE and au	thorized Sophos reseller.
Item #	Line Item	Unit Price	Qty/Unit	Total Price
TS-21-1001-01	Intercept-X Advanced with XDR & MTR Standard - 1 YR - First Offer	\$45.60	850 / each	\$38,760.00
Product Code: Agency Notes:	•	Supplier Product Code: MUSJ1(Supplier Notes: "Central Interce Intercept X Advanced with XDR a Product stocked by manufacture	pt X Advanced wit nd MTR Standard	
		Country of Origin: (None) Weight: 0.00 Dim Weight: 0.00" Desc: Central Intercept X Advanc 12/9/2021 - 12/8/2022 License		/ITR Standard Start and End Dates:
TS-21-1001-02	Intercept-X Advanced with XDR for Server & MTR Standard- 1 YR - First Offer	\$73.27	50 / each	\$3,663.50
Product Code: Agency Notes:			W Central Intercep X Advanced for Se er. Delivery times v	
	1	Standard Start and End Dates:	12/9/2021 - 12/8/2	2022 License ID: L0010356639
TS-21-1001-03	Central Email Advanced - 1 YR - First Offer	\$18.10	1400 / each	\$25,340.00
Product Code: Agency Notes:		- 1000-1999 USERS - 12 MOS - RE Country of Origin: (None) Weight: 0.00 Dim Weight: 0.00"	AL - GOV Central E NEWAL ntral Email Advance	mail Advanced Central Email Advancec ed Start and End Dates: 12/9/2021 -
TS-21-1001-04	Phish Threat - 1 YR - First Offer	\$6.30	1000 / each	\$6,300.00
Product Code: Agency Notes:		Supplier Product Code: CPTK10 Supplier Notes: "Central Phish T 12PageBreak MOS - RENEWAL - Product stocked by manufacture Country of Origin: (None) Weight: 0.00 Dim Weight: 0.00"	GTAA Ihreat Central Phis GOV	h Threat - 1000-1999 USERS -

Desc: Central Phish Threat | Start and End Dates: 12/26/2021 - 12/25/2022 | License ID: D520793107

BTek Holdings LLC Bid Contact Bruce Banko

bruce@btekholdings.com

Address 1201 Gandy Blvd N #22481 St Petersburg, FL 33742

\$78,317.50 (4/4 items)

11/3/21, 3:47 PM

Bid Notes		1		
Agency Notes:		Supplier Notes: See Attached Q	uote# QUO21073	52
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
TS-21-1001-01	Intercept-X Advanced with XDR & MTR Standard - 1 YR - First Offer	\$49.42	850 / each	\$42,007.00
Product Code: Agency Notes:		Supplier Product Code: MUSJ10 Supplier Notes:	STAA	
TS-21-1001-02	Intercept-X Advanced with XDR for Server & MTR Standard- 1 YR - First Offer	\$71.49	50 / each	\$3,574.50
Product Code: Agency Notes:		Supplier Product Code: MVSG1 Supplier Notes:	GTAA	
TS-21-1001-03	Central Email Advanced - 1 YR - First Offer	\$18.89	1400 / each	\$26,446.00
Product Code: Agency Notes:		Supplier Product Code: CAMK1 Supplier Notes:	CTAA	1
TS-21-1001-04	Phish Threat - 1 YR - First Offer	\$6.29	1000 / each	\$6,290.00
Product Code: Agency Notes:		Supplier Product Code: CPTK1C Supplier Notes:	GTAA	
Integrity IT So				\$79,973.50 (4/4 items)
j	ohn McGreevy <u>mcgreevy@integrityitsolutions.com</u> Ph 714-621-5780 31-EVERIEY _ PP-DRUGEREE _ PP-EQUAL_PP-LRTR_PP-LQCAL_PP-SCRUTIN		ve, CA 92841	R PP_W9
Qualifications	mcgreevy@integrityitsolutions.com	STE A Garden Gro IZED PP-SWORN PP-VENDO	ve, CA 92841	SB PP-W9
j	<u>mcgreevy@integrityitsolutions.com</u> Ph 714-621-5780	STE A Garden Gro	ve, CA 92841	1
j Qualifications I Agency Notes:	<u>mcgreevy@integrityitsolutions.com</u> ^y h 714-621-5780 [:] L-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTIN	STE A Garden Gro IZED PP-SWORN PP-VENDO Supplier Notes: Unit Price	ve, CA 92841 RINFO PP-VOS	Total Price
Qualifications I Agency Notes: Item #	mcgreevy@integrityitsolutions.com Ph 714-621-5780 :L-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTIN 	STE A Garden Gro IZED PP-SWORN PP-VENDO Supplier Notes: Unit Price \$47.39 Supplier Product Code: MUSJ10	ve, CA 92841 RINFO PP-VOS Qty/Unit 850 / each STAA tercept X Advance	Total Price \$40,281.50 ed with XDR and MTR Standard Start
Qualifications I Agency Notes: Item # TS-21-1001-01 Product Code:	mcgreevy@integrityitsolutions.com Ph 714-621-5780 :L-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTIN 	SUPPlier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: MUSJ1C Supplier Notes: Desc: Central In and End Dates: 12/9/2021 - 12/8.	ve, CA 92841 RINFO PP-VOS Qty/Unit 850 / each STAA tercept X Advance	Total Price \$40,281.50 ed with XDR and MTR Standard Start : L139264-1935
Qualifications I Agency Notes: Item # TS-21-1001-01 Product Code: Agency Notes:	mcgreevy@integrityitsolutions.com Ph 714-621-5780 FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTIN Line Item Intercept-X Advanced with XDR & MTR Standard - 1 YR - First Offer	STE A Garden Gro ZED PP-SWORN PP-VENDO Supplier Notes: Unit Price \$47.39 Supplier Product Code: MUSJ1C Supplier Notes: Desc: Central In and End Dates: 12/9/2021 - 12/8. \$76.12 Supplier Product Code: MVSG1	ve, CA 92841 RINFO PP-VOS Qty/Unit 850 / each 5TAA tercept X Advance (2022 License ID: 50 / each GTAA GOV Central Inte	Total Price \$40,281.50 ed with XDR and MTR Standard Start : L139264-1935 \$3,806.00 ercept X Advanced for Server with XDR
Qualifications I Agency Notes: Item # TS-21-1001-01 Product Code: Agency Notes: TS-21-1001-02 Product Code:	mcgreevy@integrityitsolutions.com Ph 714-621-5780 FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTIN Line Item Intercept-X Advanced with XDR & MTR Standard - 1 YR - First Offer	STE A Garden Gro ZED PP-SWORN PP-VENDO Supplier Notes: 47.39 Supplier Product Code: MUSJ1C Supplier Notes: Desc: Central In and End Dates: 12/9/2021 - 12/8, \$76.12 Supplier Product Code: MVSG1 Supplier Notes: Desc: RENEWAL and MTR Standard Start and Er	ve, CA 92841 RINFO PP-VOS Qty/Unit 850 / each 5TAA tercept X Advance (2022 License ID: 50 / each GTAA GOV Central Inte	Total Price \$40,281.50 ed with XDR and MTR Standard Start : L139264-1935 \$3,806.00 ercept X Advanced for Server with XDR
Qualifications I Agency Notes: Item # TS-21-1001-01 Product Code: Agency Notes: TS-21-1001-02 Product Code: Agency Notes:	mcgreevy@integrityitsolutions.com Ph 714-621-5780 FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTIN Line Item Intercept-X Advanced with XDR & MTR Standard - 1 YR - First Offer Intercept-X Advanced with XDR for Server & MTR Standard- 1 YR - First Offer	STE A Garden Gro IZED PP-SWORN PP-VENDO Supplier Notes: Unit Price \$47.39 Supplier Product Code: MUSIC Supplier Notes: Desc: Central In and End Dates: 12/9/2021 - 12/8 \$76.12 Supplier Product Code: MVSG1 Supplier Notes: Desc: RENEWAI and MTR Standard Start and Er L0010356639 \$20.49 Supplier Product Code: CAMK1	ve, CA 92841 RINFO PP-VOS Qty/Unit 850 / each 3TAA tercept X Advance (2022 License ID: 50 / each GTAA GOV Central Inte d Dates: 12/9/202 1400 / each CTAA NEWAL - GOV Cent	Total Price \$40,281.50 ed with XDR and MTR Standard Start : L139264-1935 \$3,806.00 ercept X Advanced for Server with XDR 21 - 12/8/2022 License ID: \$28,686.00 tral Email Advanced Start and End
Qualifications I Agency Notes: Item # TS-21-1001-01 Product Code: Agency Notes: TS-21-1001-02 Product Code: Agency Notes: TS-21-1001-03 Product Code:	mcgreevy@integrityitsolutions.com Ph 714-621-5780 FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTIN Line Item Intercept-X Advanced with XDR & MTR Standard - 1 YR - First Offer Intercept-X Advanced with XDR for Server & MTR Standard- 1 YR - First Offer	STE A Garden Gro IZED PP-SWORN PP-VENDO Supplier Notes: Unit Price \$47.39 Supplier Product Code: MUSJ10 Supplier Product Code: MUSJ10 Supplier Product Code: MUSJ10 Supplier Product Code: MUSG1 Supplier Notes: Desc: RENEWAL and MTR Standard Start and Er L0010356639 \$20.49 Supplier Product Code: CAMK1 Supplier Product Code: CAMK1	ve, CA 92841 RINFO PP-VOS Qty/Unit 850 / each 3TAA tercept X Advance (2022 License ID: 50 / each GTAA GOV Central Inte d Dates: 12/9/202 1400 / each CTAA NEWAL - GOV Cent	Total Price \$40,281.50 ed with XDR and MTR Standard Start : L139264-1935 \$3,806.00 ercept X Advanced for Server with XDR 21 - 12/8/2022 License ID: \$28,686.00 tral Email Advanced Start and End

vprimetechine	c			\$122,066.00	(4/4 items)
	Jan Ghalib <u>vprime@vprimetech.com</u> Ph 833-333-1314 FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINI		(77084-5162		
Agency Notes:	·	Supplier Notes:			
ltem #	Line Item	Unit Price	Qty/Unit		Total Price
TS-21-1001-01	Intercept-X Advanced with XDR & MTR Standard - 1 YR - First Offer	\$93.78	850 / each		\$79,713.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
TS-21-1001-02	Intercept-X Advanced with XDR for Server & MTR Standard- 1 YR - First Offer	\$150.82	50 / each		\$7,541.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
TS-21-1001-03	Central Email Advanced - 1 YR - First Offer	\$20.28	1400 / each		\$28,392.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
TS-21-1001-04	Phish Threat - 1 YR - First Offer	\$6.42	1000 / each		\$6,420.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Genesis Technologies

11/3/21, 3:47 PM

Periscope Source: Bid Tabulation Report

Bid Contact	Mason Morgan				
	<u>mason@genesis-technologies.com</u>				
	Ph 512-489-4	4501			
Qualifications	FL-EVERIFY	PP-DRUGFREE	PP-EOUAL		

Address 248 Addie Roy Rd, St B-102, Same Austin, TX 78746

Qualifications FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9					
Agency Notes: Supplier Notes:					
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
TS-21-1001-01	Intercept-X Advanced with XDR & MTR Standard - 1 YR - First Offer	\$98.99	850 / each	\$84,141.50	
Product Code: Agency Notes:		Supplier Product Code: 6LP683 Supplier Notes: Sophos Central Intercept X With XDR			
TS-21-1001-02	Intercept-X Advanced with XDR for Server & MTR Standard- 1 YR - First Offer	\$158.50	50 / each	\$7,925.00	
Product Code: Agency Notes:		Supplier Product Code: 6XU810 Supplier Notes: Sophos Central Intercept X Advanced			
TS-21-1001-03	Central Email Advanced - 1 YR - First Offer	\$21.31	1400 / each	\$29,834.00	
Product Code: Agency Notes:					
TS-21-1001-04	Phish Threat - 1 YR - First Offer	\$6.75	1000 / each	\$6,750.00	
Product Code: Agency Notes:		Supplier Product Code: 8E0610 Supplier Notes: Sophos Phish Tl			

Close

Questions? Contact a Periscope Source representative: 800-990-9339 or email: source-support@periscopeholdings.com

Home	Bid Search	Bids	Orders	Tools	Support	Privacy	Logout	
			in 🎔	f 🏙				

Copyright $\ensuremath{\mathbb{C}}$ 2020 - Periscope Holdings, Inc. - All rights reserved.

City of Pembroke Pines Bid Tabulation - Procurement IFB # TS-21-10 Sophos Antivirus Renewal

Vendor Name	PC Network Solutions of The Palm Beaches, Inc.	Firestorm Cyber, LLC	Cloud Computing Concepts, LLC
Contact Information (From Attachment A)	Company Information: 10625 North Military Trail Suite 104 Palm Beach Gardens, FL 33410 Tei: (561) 262-0532 Primary Contact: Guillermo Panaggio - Owner Tei: (561) 745-7013 Ext: 302 bill@pcnetworked.com Authorized Approver: Carolina Berdiuk - Office Administrator Tel: (561) 745-7013 Ext: 1 cberdiuk@pcnetworked.com	Company Information: 1020 Garland Drive Suite 350 Bogart, GA 30622 Tel: (404) 626-3130 <u>Primary Contact:</u> Kimberly Maddox - VP of Operations Tel: (706) 510-0104 Fax: (706) 510-0462 kmaddox @firestormcyber.com <u>Authorized Approver:</u> Same as Above	Company Information: 110 E Atlantic Avenue Suite 420 Delray Beach, FL 33444 Tel: (561) 939-4020 jleigh@c3-complete.com <u>Primary Contact:</u> Marc Kratenstein - Account Manager Tel: (561) 939-4027 mkratenstein@c3-complete.com <u>Authorized Approver:</u> Dino Morra - Vice President of Sales Tel: (561) 939-4021 dmorra@c3-complete.com
TOTAL BID AMOUNT	\$72,753.00	\$73,273.50	\$73,648.00
PROPOSAL REQUIREMENTS			
- Attachment A: Contact Information Form	Included	Included	Included
- Attachment B: Non-Collusive Affidavit	Included	Included	Included
- Attachment C: Proposer's Qualifications Statement	Included	Included	Included
VENDOR REGISTRATION AND QUALIFICATION DOCUMENTS			
- Vendor Information Form	Included	Included	Included
- Form W-9 (Rev. October 2018)	Included	Included	Included
- Sworn Statement on Public Entity Crimes Form	* A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	* A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	* A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.
- Local Vendor Preference Certification	Included - Does Not Meet Requirements	Included - Does Not Meet Requirements	Included - Does Not Meet Requirements
- Local Business Tax Receipts	Included - Palm Beach County - Exp 09/30/22	Not Included - Not Claiming	Not Included - Not Claiming
- Veteran Owned Small Business Preference Certification	Included - Does Not Meet Requirements	Included - Does Not Meet Requirements	Included - Does Not Meet Requirements
- Equal Benefits Certification Form	Included - Contractor Does Not Provide Benefits to Employees' Spouses in Traditional Mariages	Included - Currently Complies	Included - Currently Complies
- Vendor Drug-Free Workplace Certification Form	Included - Complies Fully	Included - Complies Fully	Included - Complies Fully
- Scrutinized Company Certification	Included	Included	Included
- E-Verify System Certification Statement	Included	Included	Included
BID SECURITY (N/A, Bid Bond, Cashier's Check, Not Submitted)			
- 5% Proposal Security / Bid Bond (Required in the event that the proposal exceeds \$200,000)	N/A	N/A	N/A
- 100% Payment and Performance Bonds (Required in the event that the proposal exceeds \$200,000)	N/A	N/A	N/A
Method of Submittal	BidSync	BidSync	BidSync
Additional Information	* Supplied Certifiction Regarding Lobbying; Debarment, Suspension and Other Responsibility Matters for Expenditure of Federal Funds	 Supplied Business Proposal Supplied Certificate of Liability Insurance Supplied Certifiction Regarding Lobbying; Debarment, Suspension and Other Responsibility Matters for Expenditure of Federal Funds 	* Supplied Certifiction Regarding Lobbying; Debarment, Suspension and Other Responsibility Matters for Expenditure of Federal Funds
Supplier Notes	None	None	None
Comments	None	None	None

City of Pembroke Pines Bid Tabulation - Procurement IFB # TS-21-10 Sophos Antivirus Renewal

Vendor Name	TEC-LINK, LLC	Btek Holdings LLC	Integrity IT Solutions, Inc.
Contact Information From Attachment A)	<u>Company Information:</u> 16350 Bruce B Downs Boulevard Sute 48942 Tampa, FL 33647 Tel: (813) 929-3222 <u>Primary Contact:</u> Derek Holmes - President Tel: (813) 713-5417	Company Information: 1201 Candy Boulevard N # 22481 St Petersburg, FL 33742 Tel: (302) 760-9377 sales@btekholdings.com <u>Primary Contact:</u> Bruce Banko - President	Company Information: 7351 Garden Grove Blvd. Suite A Garden Grove, CA 92841 TE: (714) 621-5780 Fax: (805) 526-9086 <u>Primary Contact:</u> John McGreevy - Cheif Financial Officer jmcgreevy@integrifyttsolutions.com
	derek@tec-link.com <u>Authorized Approver:</u> Same as Above	bruce@btekholdings.com <u>Authorized Approver:</u> Same as Above	Tel: (714) 621-5780 x110 Authorized Approver: Same as Above
TOTAL BID AMOUNT	\$74,063.50	\$78,317.50	\$79,973.50
PROPOSAL REQUIREMENTS			
- Attachment A: Contact Information Form	Included	Included	Included
- Attachment B: Non-Collusive Affidavit	Included	Included	Included
- Attachment C: Proposer's Qualifications Statement	Included	Included	Included
VENDOR REGISTRATION AND QUALIFICATION DOCUMENTS			
- Vendor Information Form	Included	Included	Included
- Form W-9 (Rev. October 2018)	Included	Included	
- Sworn Statement on Public Entity Crimes Form	* A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	* A. Neither the entity nor any officers who are acitve in	* A. Neither the entity nor any officers who are acitve i
- Local Vendor Preference Certification	Included - Does Not Meet Requirements	Included - Does Not Meet Requirements	Included - Does Not Meet Requirements
- Local Business Tax Receipts	Included - Hillsborough County - Exp 09.30.2021	Not Included - Not Claiming	Not Included - Not Claiming
- Veteran Owned Small Business Preference Certification	Included - Does Not Meet Requirements	Included - Does Not Meet Requirements	Included - Does Not Meet Requirements
- Equal Benefits Certification Form	Included - Currently Complies	Included - Currently Complies	Included - Currently Complies
- Vendor Drug-Free Workplace Certification Form	Included - Complies Fully	Included - Complies Fully	Included - Does Not Comply - CA Based Co
- Scrutinized Company Certification	Included	Included	Included
- E-Verify System Certification Statement	Included	Included	Included
BID SECURITY (N/A, Bid Bond, Cashier's Check, Not Submitted)			
- 5% Proposal Security / Bid Bond (Required in the event that the proposal exceeds \$200,000)	N/A	N/A	N/A
- 100% Payment and Performance Bonds (Required in the event that the proposal exceeds \$200,000)	N/A	N/A	N/A
Method of Submittal	BidSync	BidSync	BidSync
Additional Information	*Supplied City of Tampa Minority and Small Business Development Certification * Supplied Disclosure of Lobbying Activities * Supplied Certifiction Regarding Lobbying; Debarment, Suspension and Other Responsibility Matters for Expenditure of Federal Funds	* Supplied Certifiction Regarding Lobbying; Debarment, Suspension and Other Responsibility Matters for Expenditure of Federal Funds	* Supplied State of Delaware Certificate of Formation o Limitied Liability Company
Supplier Notes	* See Word Document in Vendor Folder	* See Attached Quote # QUO2107352	Line 01-01: Desc: Central Intercept X Advanced with XDR and MTR Standard Start and End Dates: 12/9/2021 - 12/8/2022 License ID: L139264-1935 Line 01-02: Desc: RENEWAL - GOV Central Intercept X Advanced for Server with XDR and MTR Standard Start and End Dates: 12/9/2021 - 12/8/2022 License ID: L0010356639 Line 01-03: Desc: MOS - RENEWAL - GOV Central Email Advanced Start and End Dates: 12/9/2021 - 12/8/2022 License ID: L0010356640 Line 01-04: Desc: Central Phish Threat Start and End Dates: 12/26/2021 - 12/25/2022 License ID:
			D520793107

City of Pembroke Pines Bid Tabulation - Procurement IFB # TS-21-10 Sophos Antivirus Renewal

Vendor Name	vPrime Tech Inc.	Genesis Technologies, Inc.
Contact Information (From Attachment A)	<u>Company Information:</u> 1400 Broadfield Boulevard Suite 200 Houston, TX 77084-5162 Tel: (833) 333-1314 vprime@vprimetech.com <u>Primary Contact:</u> Jan Ghalib - Chief Executive Officer <u>Authorized Approver:</u> Same as Above	<u>Company Information</u> 248 Addie Roy Road Suite B-102 Austin, TX 78746 Tel: (512) 489-4501 <u>Primary Contact:</u> Mason Morgan - Senior Territory Manager Mason@Genesis-Technologies.com <u>Authorized Approver:</u> Same as Above
TOTAL BID AMOUNT	\$122,066.00	\$128,650.50
PROPOSAL REQUIREMENTS		
- Attachment A: Contact Information Form	Included	Included
- Attachment B: Non-Collusive Affidavit	Included	Included
- Attachment C: Proposer's Qualifications Statement	Included	Included
VENDOR REGISTRATION AND QUALIFICATION DOCUMENTS		
- Vendor Information Form	Included	Included
- Vendor Information Form - Form W-9 (Rev. October 2018)		Included
- Sworn Statement on Public Entity Crimes Form	* A. Neither the entity nor any officers who are acitve in	* A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.
- Local Vendor Preference Certification	Included - Does Not Meet Requirements	Included - Does Not Meet Requirements
- Local Business Tax Receipts	Not Included - Not Claiming	Not Included - Not Claiming
- Veteran Owned Small Business Preference Certification	Not Included	Included - Does Not Meet Requirements
- Equal Benefits Certification Form	Included - Currently Complies	Included - Currently Complies
- Vendor Drug-Free Workplace Certification Form	Included - Complies Fully	Included - Complies Fully
- Scrutinized Company Certification	Included	Included
- E-Verify System Certification Statement	Included	Included
BID SECURITY (N/A, Bid Bond, Cashier's Check, Not Submitted)		
- 5% Proposal Security / Bid Bond (Required in the event that the proposal exceeds \$200,000)	N/A	N/A
- 100% Payment and Performance Bonds (Required in the event that the proposal exceeds \$200,000)	N/A	N/A
Method of Submittal	BidSync	BidSync
Additional Information	* Supplied Certificate of Liability Insurance * Supplied 2021 Florida Annual Resale Certificate for Sales Tax - Expires 12/31/2021 * Supplied Texas Sales and Use Tax Permit	* Supplied Texas Sales and Use Tax Permit
Supplier Notes	None	Line 01-01: Sophos Central Intercept X With XDR Line 01-02: Sophos Central Intercept X Advanced Line 01-03: Sophos Central Email 1-Year Renewal Line 01-04: Sophos Phish Threat Renewal
Comments	None	None